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GUESS PAPER – 2007
Class - X

MATHEMATICS
Marks: 80   








Time allowed: 3 hours       

General Instructions:-
· All questions are compulsory

· The question paper consists of 25 question divided into three sections A, B and C. Section A contains 7 question of  2 marks each,  Section B is 12 questions of 3 marks each and Section C is of  6 questions of 5 marks each..

· There is no overall choice. However internal choice has been provided in two questions of two marks each, two questions of three  marks each and two questions of  five marks each

· Write the serial number of the question before attempting it.

· In question on construction, the drawing should be neat and exactly as per the given measurements

· Use of calculators is not permitted. However you may ask for mathematical tables.
Section - A

1. Solve    for  [image: image46.png]
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OR

A boat goes 45 km upstream and 65 km downstream in 14 hrs. In 11 hours it can go 35 km upstream and 52 km downstream. Find the speed of the stream and that of the boat in still water. 

2. If 
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 in the simplified form .
3. Solve for 
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OR

 Solve the equation for 
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4. Solve for 
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 EMBED Equation.3  [image: image12.wmf]970
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5. In the  given figure   two circles touch each other externally at P. APC and BPD be the lines through P, meeting the two  circles at A, B and  C, D respectively. Show that   AB((CD
[image: image1.wmf]x


6. A sofa set is available for  Rs 990 cash  or Rs 310 cash down payment followed by three equal monthly instalments of Rs 240 .Find the rate of interest charged under instalment plan..
7. In a single throw of two dice, find the probability of getting 

i) an odd number on the first dice and 6 on the second dice   ii) a number greater than 4 on each dice.

Section B

8. Solve graphically 
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15

3

7

0

12

3

2

=

-

-

=

-

+

y

x

y

x


9. If 
[image: image14.wmf])

2

)(

3

(

-

+

x

x

is the G.C.D of  
[image: image15.wmf])

3

2

)(

3

(

)

(

2

a

x

x

x

x

f

+

-

+

=

and 
[image: image16.wmf])

10

3

)(

2

(

)

(

2

b

x

x

x

x

g

+

+

-

=

find the value of 
[image: image17.wmf]b

a

2

3

+


10. A loan of 21,200 has to be repaid in two equal annual instalments. If the interest charged is at the rate of 12% per annum, compounded annually find the amount of each instalment.

11.  If 9th  term of an A.P is 99 and 99th term 9. Find the 108th term of the A.P.
12. The length of the hypotenuse of a right triangle exceeds the length of the base by 2 cm and exceeds twice the length of the altitude by 1 cm. Find the length of each side of the triangle.
OR

Divide 16 into two  parts such that twice the square of the longer part exceeds the square of the smaller part by 164

13. Construct ( ABC  in which BC = 7 cm, (A = 60° and the foot of the perpendicular  D on  BC from A  is 4 cm away from B. Also (A`BC` similar to (ABC such that each side is 
[image: image18.wmf]3
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14. ABCD is a rhombus  , prove that  AC2 + BD2 = 4AB2
15. A well of diameter 2 m is dug 14 m deep. The earth taken out if it is spread evenly all around it to a width of 5 m to form an embankment. Find the height of the embankment.
16. Prove that 
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OR

Without using tables, evaluate  
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17. The line segment joining the points (3, -4) and (1,2) is trisected at points P and Q. If the coordinates P and Q are  
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respectively, find the values of  
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18. If the point 
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19. Draw a pie chart to represent the following data showing the break-up of the cost (in Rs) of construction of a house in a small town. 

	Item
	Bricks
	Cement
	Steel
	Timber
	Labour

	Cost (in Rs)
	54,000
	36,000
	27,000
	24,000
	75,000


Section C

20. Compute the arithmetic mean for the following frequency distribution:.

	Marks
	Below 10
	Below 20
	Below 30
	Below 40
	Below 50
	Below 60
	Below 70
	Below 80

	No of Students
	5
	9
	14
	28
	45
	60
	70
	80


21. State and prove converse of Pythagoras Theorem 

Using the above result, prove the following:  

In an isosceles triangle ABC if 
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,  prove that (C is a right angle

22. If two chords of a circle intersect inside or outside the circle, then  the rectangle formed by the  two parts of one chord is equal in area to the rectangle formed by the two parts of the other .. 

Using the above result, determine the following

Two chords AB and CD of a circle intersect each other at O.  If AO = 8 cm, CO = 6 cm,  and OD = 4 cm,  find OB

OR

If PAB  is a secant of a circle, intersecting it at A and B and PT is a tangent, then prove that  
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Using the above , do the following:

[image: image44.png]In figure PT is a tangent to the circle at T and PBA  is a secant. If PB = 4 cm, PT = 8cm, and OB = 
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, find the value  
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23. From an aeroplane vertically above a straight horizontal road, the angles of depression of two consecutive milestones on opposite sides of the aeroplane are observed to be 
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 and 
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. Show that the height of the aeroplane is  above the road is 
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OR.

A path separates two walls. A ladder leaning against one wall rests at a point on the path. It reaches a height of 90 m on the other wall and makes an angle of 60° with the ground. If while resting at the same point on the path, it were made to lean against the other wall, it would have made an angle of 30° with the ground. Find the height it would have reached on the second wall.

24. An iron pillar has some part in the form of a right circular cylinder and remaining in the form of a right circular cone. The radius of base each of cone and cylinder is 15 cm. The cylindrical part is 250 cm  high and conical part is 20 cm high. Find the cost of painting  the cylinder at the rate of Rs 145 per sq.m

25. The annual income of Dr Rakesh who  is a senior citizen aged 67 years. He earns Rs 24,000 per month. He donates Rs 6, 000 to the Prime Minister Relief Fund (100% relief) and Rs 4000 to an educational institution (50% relief).. He contributes Rs 5,000 per month in his provident fund. He also invested Rs.15, 000 in NSC. Calculate the income tax paid by him in the last month of the year, if his earlier deductions for first 11 months for income tax were at the rate of Rs 350 per month.

Use the following for calculating the income tax:

	a) Savings :                

	100% exemption for savings upto 1,00,000 



	b) Rate of income tax
	

	         Slab
	Income tax

	i) Upto  Rs 185,000
	No tax


	ii) From Rs 185,001 to Rs 2,50,000
	20% of the amount exceeding Rs 185,000

	iii) Above Rs 250,000
	Rs 13,000 + 30% of the amount exceeding Rs 250,000

	 c)  Education Cess
	2% of the tax payable.


Ans: 1) 
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 (4) 96 (6) 36.36% (7) 
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 (20) 46.125 (23) 
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 (24) Rs167.5 (25) Rs 230
May God Bless You.

Best of Luck
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